
Q.1 Select the most appropriate synonym of the highlighted word.
This is credible information provided by the informer.

Ans 1. detachable

2. digestible

3. dependable

4. commendable

Question ID : 26433045468

Status : Answered

Chosen Option : 4

Q.2 Select the option that expresses the given sentence in active voice.
The thieves were caught by the police.

Ans 1. The police was caught the thieves.

2. The police caught the thieves.

3. The police were caught the thieves.

4. The police had caught the thieves.

Question ID : 26433039723

Status : Answered

Chosen Option : 2

Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
The notice / that the office / posted over the wall / is very appropriate.

Ans 1. is very appropriate

2. The notice

3. that the office

4. posted over the wall

Question ID : 26433039690

Status : Answered

Chosen Option : 4

Q.4 Select the most appropriate ANTONYM of the highlighted word.
Let’s ascertain whether his claims have any truth.

Ans 1. prove

2. approve

3. detect

4. disprove

Question ID : 26433045481

Status : Marked For Review

Chosen Option : 1
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Q.5 Select the correct homonym from the given options to fill in the blank.
She couldn’t eat the________ pizza by herself

Ans 1. heal 

2. whole 

3. hole 

4. haul 

Question ID : 26433045546

Status : Answered

Chosen Option : 2

Q.6 Select the most appropriate meaning of the given idiom.
Have a soft spot for someone

Ans 1. To like someone a lot

2. To resolve a problem successfully

3. To argue something with no effect 

4. To show the true nature of someone 

Question ID : 26433043133

Status : Answered

Chosen Option : 1

Q.7 Select the most appropriate meaning of the given idiom.
Pull the plug

Ans 1. Launch something

2. Annoy someone

3. End something

4. Distract someone

Question ID : 26433039992

Status : Answered

Chosen Option : 3

Q.8 Select the most appropriate synonym of the given word.
Rescind

Ans 1. Validate

2. Revoke

3. Accredit

4. Sign

Question ID : 26433039976

Status : Answered

Chosen Option : 2

Q.9 Select the most appropriate synonym of the given word.
Reconnoitre

Ans 1. Overlook

2. Inspect  

3. Glance 

4. Disclaim

Question ID : 26433039839

Status : Answered

Chosen Option : 3
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Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. One morning the Giant was lying awake in bed when he heard some lovely music.
B. Then the Hail stopped dancing over his head, and the North Wind ceased roaring,
and a delicious perfume came to him through the open casement. “I believe the Spring
has come at last,” said the Giant; and he jumped out of bed and looked out.
C. It was really only a little linnet singing outside his window, but it was so long since
he had heard a bird sing in his garden that it seemed to him to be the most beautiful
music in the world.
D. It sounded so sweet to his ears that he thought it must be the King’s musicians
passing by.

Ans 1. ADCB 

2. ACDB

3. BADC

4.  BACD

Question ID : 26433045613

Status : Answered

Chosen Option : 1

Q.11 In the following passage, a word has been deleted. Read the passage carefully and
select the most appropriate option to fill in the blank.
In a ________ move, the robbers chose their next place of attack over 255 km away
from the locations they had earlier ________ in Dewas.

Ans 1.  corrupt, vanished

2.  righteous, incorporated

3.  noble, decided

4. shrewd, targeted 

Question ID : 26433045592

Status : Answered

Chosen Option : 4

Q.12 Select the option that will improve the underlined part of the given sentence.
The sweet and bitter memories of her past make her weak and sad.

Ans 1. had to make her pale and unhappy

2. must make her pastel and unhappy

3. ought to make her pallid and unhappy

4. made her feeble and unhappy

Question ID : 26433045390

Status : Answered

Chosen Option : 4

Q.13 Select the most appropriate meaning of the given idiom.

At loggerheads

Ans 1. Disagreeing with

2. In one’s absence

3. At mercy

4. To write down

Question ID : 26433042948

Status : Answered

Chosen Option : 1
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Q.14 Select the INCORRECTLY spelt word. 

Ans 1. Possession

2. Luxurious 

3. Suspecious  

4. Jealous

Question ID : 26433039858

Status : Answered

Chosen Option : 4

Q.15 Select the most appropriate ANTONYM of the given word.
Clamour

Ans 1. Danger 

2. Complaint 

3. Babble 

4. Quiet 

Question ID : 26433039827

Status : Answered

Chosen Option : 4

Q.16 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.
He is such an untruthful man, that no one will believing him.

Ans 1.  an untruthful man, 

2.  that no one  

3. will believing him  

4. He is such   

Question ID : 26433043100

Status : Answered

Chosen Option : 3

Q.17 Select the option that expresses the given sentence in passive voice.
One expects better behaviour from a senior student.

Ans 1. Better behaviour is expected from a senior student.

2. Senior student behaviour is expected better.

3. As a senior student you need to behave.

4. Better behaviour was expected from senior student.

Question ID : 26433042904

Status : Answered

Chosen Option : 1

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.
A journey undertaken by a group of people with a particular purpose, especially that of
exploration or research.

Ans 1. Sojourn 

2. Expedition 

3. Pilgrimage  

4. Voyage 

Question ID : 26433039909

Status : Answered

Chosen Option : 4
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Q.19 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
I am watching a movie, when my mother came into the room.

Ans 1. I was watching 

2. No substitution required 

3. I watched a movie 

4. I would be watching  

Question ID : 26433039921

Status : Answered

Chosen Option : 1

Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
The thief / entered the house, / in the middle of the night, / quiet.

Ans 1. entered the house

2.  quiet 

3. The thief

4. in the middle of the night

Question ID : 26433039686

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The contract (1) __________ the author and the reader is a game. And the game is one of
the greatest inventions (2) __________ Western civilisation: the game of telling stories,
inventing characters and creating the (3) ___________ paradise of the individual, from
whence no one can be expelled (4) ____________, in a novel, no one owns the truth and
everyone has the right to be (5) _____________ and understood.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. before

2. between

3. as

4. beside

Question ID : 26433045647

Status : Answered

Chosen Option : 2Gov
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The contract (1) __________ the author and the reader is a game. And the game is one of
the greatest inventions (2) __________ Western civilisation: the game of telling stories,
inventing characters and creating the (3) ___________ paradise of the individual, from
whence no one can be expelled (4) ____________, in a novel, no one owns the truth and
everyone has the right to be (5) _____________ and understood.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. in

2. of

3. since

4. about

Question ID : 26433045648

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The contract (1) __________ the author and the reader is a game. And the game is one of
the greatest inventions (2) __________ Western civilisation: the game of telling stories,
inventing characters and creating the (3) ___________ paradise of the individual, from
whence no one can be expelled (4) ____________, in a novel, no one owns the truth and
everyone has the right to be (5) _____________ and understood.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. transparent

2. imaginary

3. drastic

4. plausible

Question ID : 26433045649

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The contract (1) __________ the author and the reader is a game. And the game is one of
the greatest inventions (2) __________ Western civilisation: the game of telling stories,
inventing characters and creating the (3) ___________ paradise of the individual, from
whence no one can be expelled (4) ____________, in a novel, no one owns the truth and
everyone has the right to be (5) _____________ and understood.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. across

2. beyond

3. because

4. beside

Question ID : 26433045650

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The contract (1) __________ the author and the reader is a game. And the game is one of
the greatest inventions (2) __________ Western civilisation: the game of telling stories,
inventing characters and creating the (3) ___________ paradise of the individual, from
whence no one can be expelled (4) ____________, in a novel, no one owns the truth and
everyone has the right to be (5) _____________ and understood.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. heard

2. neglected

3. removed

4. prejudiced

Question ID : 26433045651

Status : Answered

Chosen Option : 4

Q.1 िनɻिलİखत मŐ से कौन-सा अƗर-समूह दी गई ŵंृखला को पूरा करने के िलए Ůʲ िच˥ (?) को
Ůित̾थािपत करेगा?
RJGZ, NQWM, ?, FECM, BLSZ

Ans 1. KQDZ

2. JWZM

3. KWMZ 

4. JXMZ 

Question ID : 26433044985

Status : Answered

Chosen Option : 4

Q.2 एक िनिʮत कोड भाषा मŐ, 'PULSE' को 'QTMRF' िलखा जाता है और 'HEART' को 'IDBQU' िलखा
जाता है। उसी भाषा मŐ 'LIVER' को कैसे िलखा जाएगा?

Ans 1. KJWFS

2. MJUFS

3. MKWFQ

4. MHWDS

Question ID : 26433040692

Status : Answered

Chosen Option : 4

Q.3 यिद I का अथŊ '÷' है, J का अथŊ '×' है, K का अथŊ '-' है और L का अथŊ '+' है, तो िनɻिलİखत समीकरण मŐ
'?' के ̾थान पर Ɛा आएगा?
15 L (3 J 9) K (12 J 2) L (189 I 9) L 29 = ?

Ans 1. 62

2. 68

3. 72

4. 65

Question ID : 26433043361

Status : Answered

Chosen Option : 2

Section : General Intelligence
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Q.4 िनɻिलİखत मŐ से कौन-सी संƥा दी गई ŵंृखला मŐ Ůʲ िच˥ (?) को Ůित̾थािपत करेगी?
2168,1979,1790,1601,1412,?

Ans 1. 1212

2. 1179

3. 1301

4. 1223

Question ID : 26433043262

Status : Answered

Chosen Option : 4

Q.5 िनɻिलİखत मŐ से कौन-सी संƥा दी गई संƥा Şंखला मŐ Ůʲवाचक िच˥ (?) को Ůित̾थािपत करेगी?
209, 318, 427, 536, ?, 754

Ans 1. 664 

2. 655

3. 645 

4. 635 

Question ID : 26433038598

Status : Answered

Chosen Option : 3

Q.6 िदए गए िवकʙों मŐ उस िवकʙ का चयन कीिजए जो पांचवी ं संƥा से उसी Ůकार संबंिधत है िजस
Ůकार दूसरी संƥा पहली संƥा से संबंिधत है और चौथी संƥा तीसरी संƥा से संबंिधत है।
4 : 31::7 : 223::6 : ?

Ans 1. 131

2. 133

3. 123

4. 137

Question ID : 26433043303

Status : Answered

Chosen Option : 3

Q.7 यिद 13 िसतंबर 2003 को शिनवार है, तो 14 फरवरी 2005 को सɑाह का कौन सा िदन होगा?
Ans 1. सोमवार

2. शुŢवार

3. बुधवार

4. शिनवार

Question ID : 26433039035

Status : Answered

Chosen Option : 1
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Q.8

Ans 1. 5

2. 3

3. 2

4. 1

Question ID : 26433040772

Status : Answered

Chosen Option : 2

Q.9 िनɻिलİखत मŐ से कौन-सी संƥा दी गई ŵंृखला मŐ Ůʲ िच˥ (?) को Ůित̾थािपत करेगी?
67, 79, 64, ?, 61, 85

Ans 1. 82

2. 80

3. 83

4. 84

Question ID : 26433040585

Status : Answered

Chosen Option : 1

Q.10 एक िनिʮत कूट भाषा मŐ 'GRAPES' को 'EPYNCQ' िलखा जाता है और 'ROSE' को 'PMQC' िलखा
जाता है। उसी भाषा मŐ 'SAGE' को कैसे िलखा जाएगा?

Ans 1. CYEQ

2. QYCE

3. QYEC

4. QEYC

Question ID : 26433045057

Status : Answered

Chosen Option : 3

Q.11 उस िवकʙ का चयन कीिजए जो उन अƗरो ं को िनŝिपत करता है, िज̢हŐ įरƅ ̾थानो ं मŐ बाएं से दाएं
रखने पर अƗर ŵंृखला पूरी हो जाएगी।
D _ R X E C M R _ E _ M R X _ A M _ X E

Ans 1. X M B E R

2. M X B E R

3. B X M E R

4. E B X M R

Question ID : 26433040426

Status : Answered

Chosen Option : 2
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Q.12

Ans
1. 

2. 

3. 

4. 

Question ID : 26433040339

Status : Answered

Chosen Option : 2

Q.13 उस िवकʙ का चयन कीिजए, जो पाँचवŐ पद से उसी Ůकार संबंिधत है, िजस Ůकार दूसरा पद पहले पद
से और चौथा पद तीसरे पद से संबंिधत है।

ABILITY : ITYLABI :: INSTEAD : EADTINS :: ENGLISH : ?

Ans 1. ESHLING

2. LISHNGE

3. IHSLEGN

4. ISHLENG

Question ID : 26433040254

Status : Answered

Chosen Option : 4

Q.14 िदए गए समीकरण मŐ * िच˥ो ं को Ţिमक ŝप से बदलने और समीकरण को संतुिलत करने के िलए
गिणतीय िच˥ो ं के सही संयोजन का चयन कीिजए।
16*4*8*10*2*16

Ans 1. ÷,–,+, ×, =

2. ×, ÷,–,+, =

3. –,÷,+,×, =

4. ÷,+,×,–, =

Question ID : 26433040606

Status : Answered

Chosen Option : 1

Q.15 िनɻिलİखत मŐ से कौन-सी संƥा दी गई ŵंृखला मŐ Ůʲ िच˥ (?) के ̾थान पर आएगी?
12,37,114,347,1048,?

Ans 1. 3253

2. 3153

3. 3152

4. 3252

Question ID : 26433043543

Status : Answered

Chosen Option : 2
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Q.16

Ans

1. 

2. 

3. 

4. 

Question ID : 26433040178

Status : Answered

Chosen Option : 3

Q.17

Ans 1. 13

2. 15

3. 14

4. 12

Question ID : 26433043534

Status : Answered

Chosen Option : 1

Q.18 िनɻिलİखत मŐ से कौन-सी संƥा दी गई ŵंृखला मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आएगी?
2, 26, ?, 170, 290, 442

Ans 1. 82

2. 37

3. 65

4. 50

Question ID : 26433045222

Status : Answered

Chosen Option : 1
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Q.19 नीचे िदए गए समीकरण मŐ * िच˥ो ं को बदलने और समीकरण को संतुिलत करने के िलए गिणतीय िच˥ो ं
के सही संयोजन का चयन कीिजए।

48*6*17*3*12*5*1

Ans 1. +,=,−,×,+,÷

2. ÷,+,×,=,×,−

3. ×,−,=,+,×,+

4. ÷,+,−,=,+,×

Question ID : 26433040229

Status : Answered

Chosen Option : 2

Q.20 तीन कथन िदए गए हœ, िजनके बाद तीन िनʺषŊ I, II और III िदए गए हœ। कथनो ं को सȑ मानते Šए, भले
ही वे सामाɊतः ǒात तȚों से िभɄ Ůतीत होते हो,ं िनणŊय कीिजए िक िदए गए िनʺषŘ मŐ से कौन सा/से
कथनो ं का तािकŊ क ŝप से अनुसरण करता/करते है/हœ।
कथन:
कुछ बाįरश, चŢवात हœ।
कुछ चŢवात, Ůवात हœ।
कोई भी Ůवात, गरज नही ं है।
िनʺषŊ:
I. कुछ चŢवात, बाįरश हœ।
II. कोई भी गरज, चŢवात नही ं है।
III. कोई भी Ůवात, बाįरश नही ं है।

Ans 1. केवल िनʺषŊ I और II अनुसरण करते हœ

2. केवल िनʺषŊ I अनुसरण करता है

3. केवल िनʺषŊ II अनुसरण करता है

4. केवल िनʺषŊ I और III अनुसरण करते हœ

Question ID : 26433040742

Status : Answered

Chosen Option : 2

Q.21 उस िवकʙ का चयन करŐ जो तीसरी संƥा से ठीक उसी Ůकार संबंिधत है जैसे दूसरी संƥा पहली
संƥा से संबंिधत है और छठी संƥा पांचवी ं संƥा से संबंिधत है।
9 : 17 :: 22 : ? :: 30 : 59

Ans 1. 22

2. 56

3. 72

4. 43

Question ID : 26433043437

Status : Answered

Chosen Option : 4

Q.22 उस िवकʙ का चयन करŐ जो पांचवŐ शɨ से उसी Ůकार संबंिधत है िजस Ůकार दूसरा शɨ पहले शɨ
से संबंिधत है और चौथा शɨ तीसरे शɨ से संबंिधत है। (शɨों को अथŊपूणŊ अंŤेजी/िहȽी शɨों के ŝप
मŐ माना जाना चािहए और इɎŐ शɨ मŐ अƗरो ं की संƥा/ʩंजनो ं की संƥा/ˢरों की संƥा के आधार
पर एक दूसरे से संबȠ नही ं िकया जाना चािहए।)
भालू : कब (Cub) :: उʟू : आउलेट (Owlet) :: िहरण : ?

Ans 1. फॉन (Fawn)

2. फोल (Foal)

3. बछड़ा (कॉफ)

4. िपʟा (पप)

Question ID : 26433045092

Status : Answered

Chosen Option : 2
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Q.23 उस सही िवकʙ का चयन करŐ जो िनɻिलİखत शɨों के तािकŊ क और साथŊक ŢमिवɊास को दशाŊता है
।
1. सौर मंडल
2. पृțी
3. भारत
4. एिशया
5. आकाशगंगा

Ans 1. 5,1,2,4,3

2. 2,1,3,4,5

3. 5,4,3,2,1

4. 1,2,3,4,5

Question ID : 26433043404

Status : Answered

Chosen Option : 1

Q.24

Ans

1. 

2. 

3. 

4. 

Question ID : 26433040507

Status : Answered

Chosen Option : 1

Gov
tJo

bsA
ler

t.In

For More Updates Visit www.GovtJobsAlert.In

For More Updates Visit www.GovtJobsAlert.In



Q.25

Ans
1. 

2. 

3. 

4. 

Question ID : 26433040550

Status : Answered

Chosen Option : 2

Q.1

Ans 1.   Rs.15 लाख

2.   Rs.5 लाख

3.    Rs.12 लाख

4. Rs.10 लाख

Question ID : 26433045962

Status : Answered

Chosen Option : 4

Q.2

Ans 1. 28

2. 16

3. 24

4. 40

Question ID : 26433042750

Status : Answered

Chosen Option : 4

Section : Quantitative Aptitude
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Q.3 यिद x = 9 है, तो x5 - 10x4 + 10x3 - 10x2 + 10x-1 का मान ___________ है।
Ans 1. 8

2. 9

3. 10

4. 1

Question ID : 26433039209

Status : Answered

Chosen Option : 1

Q.4 दो टŌ ेनŐ आगरा से कोलकाता के िलए Ţमशः 9:00 a.m. और 9:30 a.m. पर रवाना होती हœ और Ţमशः
240 km/h and 300 km/h की चाल से चलती हœ। दोनो ं टŌ ेनŐ आगरा से िकतने िकलोमीटर की दूरी पर
िमलŐगी?

Ans 1. 240 km

2. 600 km

3. 270 km

4. 300 km

Question ID : 26433039247

Status : Answered

Chosen Option : 2

Q.5

Ans 1. ₹4.08

2. ₹6.02

3. ₹4.80

4. ₹5.01

Question ID : 26433041671

Status : Answered

Chosen Option : 1

Q.6 बेलनाकार आकार के एक बतŊन का ʩास 14 cm और ऊँचाई 25 cm है, उसका कुल पृʿीय Ɨेũफल
ǒात कीिजए। [π=22/7 का Ůयोग कीिजए]

Ans 1. 1408 cm2

2. 1424 cm2

3. 1452 cm2

4. 1392 cm2

Question ID : 26433039543

Status : Answered

Chosen Option : 1

Q.7 एक दुकानदार चावल की दो िक˝ो,ं िजसकी कीमत उसे ₹40 Ůित kg और ₹47.50 Ůित kg पड़ी है, को
इस Ůकार को िमलाता है िक उसके पास ₹645 की लागत वाला 15 kg िमŵण तैयार हो जाता है। उस
चावल का वजन (Kg मŐ) ǒात कीिजए िजसकी कीमत उसे ₹47.50 Ůित kg पड़ी है?

Ans 1. 10

2. 5

3. 6

4. 9

Question ID : 26433039104

Status : Answered

Chosen Option : 3
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Q.8 एक चुनाव मŐ दो उʃीदवार थे। एक उʃीदवार को 38% मत िमले और वह 7200 मतो ं से हार गया। वैध
मतो ं की कुल संƥा ________ है।

Ans 1. 3600

2. 273600

3. 27360

4. 30000

Question ID : 26433044346

Status : Answered

Chosen Option : 4

Q.9 एक दुकानदार ₹3,000 मूʞ के उȋाद बेचना चाहता था। उसने दो िवकʙ िदए - 10% की तीन Ţमागत
छूट या 30% की एकल छूट। यिद कोई खरीदार पहले िवकʙ का चयन करता है तो वह दूसरे िवकʙ
की तुलना मŐ िकतना अितįरƅ/कम भुगतान करेगा?

Ans 1. ₹87 अितįरƅ

2. ₹60 कम

3. ₹87 कम

4. ₹60 अितįरƅ

Question ID : 26433039359

Status : Answered

Chosen Option : 1

Q.10 7 cm िũǛा वाले एक वृȅ के िũǛखंड का Ɨेũफल ǒात कीिजए, िजसका कŐ ūीय कोण 90° का है।
Ans 1. 20. 67 cm2

2. 28 cm2

3. 38.50 cm2

4. 35 cm2

Question ID : 26433039558

Status : Answered

Chosen Option : 3

Q.11 20 cm लंबे कोर वाले एक घनाकार पाũ मŐ िफट की जा सकने वाली सबसे लंबी डंडी (İ̾ टक) की लंबाई
̋या होगी?

Ans 1. 

2. 

3. 

4. 

Question ID : 26433042528

Status : Answered

Chosen Option : 2
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Q.12

Ans 1.  P

2.  R

3. S

4.  Q

Question ID : 26433045968

Status : Answered

Chosen Option : 2

Q.13 यिद कोई कंपनी िकसी वˑु के अंिकत मूʞ पर 20% की छूट देती है और उस िवशेष वˑु पर 20% का
लाभ Ůाɑ करती है, तो कंपनी ने अपने माल को Ţय मूʞ से िकतने Ůितशत अिधक पर अंिकत िकया?

Ans 1. 50%

2. 20%

3. 40%

4. 25%

Question ID : 26433042561

Status : Answered

Chosen Option : 1

Q.14 24 चूिड़याँ खरीदने पर ईशा को 6 चूिड़याँ मुɞ िमलती हœ। गणना करŐ िक ईशा को िकतने Ůितशत की
छूट िमलती है?

Ans 1. 20%

2. 25%

3. 10%

4. 15%

Question ID : 26433042699

Status : Answered

Chosen Option : 1
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Q.15

Ans 1. दशŊन

2. अिमत

3. केिवन

4. बबलू

Question ID : 26433045956

Status : Answered

Chosen Option : 3

Q.16

Ans
1. 

2. 

3. 

4. 

Question ID : 26433044324

Status : Answered

Chosen Option : 3

Q.17 A एक कायŊ को 15 िदन मŐ कर सकता है, लेिकन B की मदद से वह इसे 9 िदन मŐ कर सकता है। B
अकेले इस कायŊ को िकतने समय मŐ कर सकता है?

Ans 1. 20.5 िदन

2. 22.5 िदन

3. 21 िदन

4. 18 िदन

Question ID : 26433039378

Status : Answered

Chosen Option : 2
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Q.18 z के सभी वाˑिवक मानो ं के िलए सवŊसिमका 4(z + 7)(2z – 1) = Az2 + Bz + C है। A2 – B – C का
मान ǒात कीिजए।

Ans 1. –16

2. 40

3. 16

4. 36

Question ID : 26433041696

Status : Answered

Chosen Option : 2

Q.19 42 और 63 का तृतीयानुपाती ǒात कीिजए।
Ans 1. 63.8

2. 96.2

3. 42.5

4. 94.5

Question ID : 26433039169

Status : Answered

Chosen Option : 4

Q.20

Ans 1. 250

2. 270

3. 200

4. 230

Question ID : 26433041360

Status : Answered

Chosen Option : 4

Q.21 एक ʩİƅ कार से शहर A से शहर B तक की दूरी 24 km/h की चाल से तय करता है और शहर B से
शहर A तक 16 km/h की चाल से लौटता है। उसकी पूरी याũा की औसत चाल ǒात कीिजए।

Ans 1. 20 km/h

2. 19 km/h

3. 19.2 km/h

4. 19.5 km/h

Question ID : 26433038851

Status : Answered

Chosen Option : 3

Q.22 लंबाई 90 cm, चौड़ाई 50 cm और ऊंचाई 4 m वाले घनाभ का कुल पृʿीय Ɨेũफल िकतना होगा?
Ans 1. 18.15 m2

2. 12.1 m2

3. 1.21 m2

4. 6.05 m2

Question ID : 26433039382

Status : Answered

Chosen Option : 2
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Q.23 A, एक कƗा मŐ 10 छाũो ं के समूह के औसत अंक हœ और A+8, 15 छाũो ं के समूह का औसत है िजसमŐ
िदए गए 10 छाũो ं का समूह भी शािमल है। 10 छाũो ं के समूह Ȫारा Ůाɑ िकए गए कुल अंक X है, और
15 छाũो ं Ȫारा Ůाɑ िकए गए कुल अंक Y हœ। यिद X:Y=3:5 है, तो A+X+Y का मान _______ है।

Ans 1. 1845 

2. 1964 

3. 1992  

4. 2012 

Question ID : 26433039322

Status : Answered

Chosen Option : 3

Q.24 -10 से 35 के बीच की 5 से िवभाǛ Ůाकृत पूणाōक संƥाओं का औसत ̋या होगा?
Ans 1. 15

2. 17.5

3. 20

4. −13.88

Question ID : 26433044146

Status : Answered

Chosen Option : 2

Q.25 एक ठोस İखलौने की आकृित एक बेलन, शंकु और एक अधŊगोलाकार ̪याले के संयोजन के समान है।
İखलौने के बेलनाकार भाग का आयतन İखलौने के कुल आयतन का 50% है, शंƓाकार भाग का
आयतन İखलौने के कुल आयतन का 20% है। İखलौने के शंƓाकार, बेलनाकार और अधŊगोलाकार
भागो ं के आयतनो ं का अनुपात ǒात कीिजए।

Ans 1. 5 : 2 : 3

2. 2 : 5 : 3

3. 4 : 5 : 3

4. 2 : 3 : 5

Question ID : 26433044208

Status : Answered

Chosen Option : 2

Q.1 ŮिसȠ शा˓ीय नृȑांगना तंजौर बालसरˢती को 1977 मŐ _________ से सʃािनत िकया गया था।
Ans 1. पȧ भूषण

2. पȧ िवभूषण

3. भारत रȉ

4. पȧ ŵी

Question ID : 26433038811

Status : Answered

Chosen Option : 2

Q.2 िनɻिलİखत भारतीय कनाŊटक संगीतकारो ं मŐ से िकसने 1991 मŐ पȧ िवभूषण पुरˋार Ůाɑ िकया और
İˢट्जरलœड मŐ ŮदशŊन कला और अनुसंधान अकादमी की ̾थापना की?

Ans 1. डॉ. मंगलमपʟी बालमुरलीकृˁ

2. गुलाम मुˑफा खान

3. िकशन महाराज

4. छɄूलाल िमŵा

Question ID : 26433042325

Status : Answered

Chosen Option : 1

Section : General Awareness
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Q.3 िनɻिलİखत मŐ से कौन ŮिसȠ Ƒािसक 'एिलस एडवŐचसŊ इन वंडरलœड' के लेखक हœ?
Ans 1. अनőː हेिमंƹ

2. लुईस कैरोल

3. रोआʒ डाल

4. रİˋन बॉȵ

Question ID : 26433042163

Status : Not Answered

Chosen Option : --

Q.4 महारा Ō̓ राǛ मŐ राǛसभा की िकतनी सीटŐ हœ?
Ans 1. 19

2. 25

3. 31

4. 10 

Question ID : 26433039644

Status : Answered

Chosen Option : 1

Q.5 उपादान भुगतान Ůवाह का िनɻिलİखत मŐ से कौन सा कोण रा Ō̓ ीय आय का अनुमान लगाने का आधार
बनता है?

Ans 1. ̺यय कोण

2. खपत कोण

3. आय िवतरण कोण

4. उ̝पादन कोण

Question ID : 26433042067

Status : Not Answered

Chosen Option : --

Q.6 अली अकबर खान के िशˈ राजीव तारानाथ एक __________ वादक हœ।
Ans 1. बांसुरी

2. संतूर

3. सरोद

4. तबला

Question ID : 26433042255

Status : Answered

Chosen Option : 3

Q.7 पृțी की कौन-सी बाहरी परत Ťेनाइट संरचना के िलए कम घनी, मोटी और एंडेिसिटक है?

Ans 1. Ůावरण (मœटल)

2. समुūी पपŊटी

3. महाȪीपीय पपŊटी

4. बाहरी कोर

Question ID : 26433044878

Status : Answered

Chosen Option : 4

Gov
tJo

bsA
ler

t.In

For More Updates Visit www.GovtJobsAlert.In

For More Updates Visit www.GovtJobsAlert.In



Q.8 कनक राजू को 2021 मŐ िनɻिलİखत मŐ से िकस नृȑ शैली मŐ योगदान के िलए पȧ ŵी से सʃािनत िकया
गया था?

Ans 1. सũीया

2. गुसािद

3. छाऊ

4. सािधर

Question ID : 26433041763

Status : Answered

Chosen Option : 3

Q.9 टाइटेिनयम डाइऑƛाइड, जो टूथपेː जैसे उȋादो ं मŐ सफेद वणŊक के ŝप मŐ Ůयोग िकया जाता है,
िकस खिनज से Ůाɑ होता है?

Ans 1. इʝेनाइट

2. अűक

3. िसिलका

4. ɢोराइट

Question ID : 26433044881

Status : Not Answered

Chosen Option : --

Q.10 सोलनम लाइकोपिसŊकम एल. िनɻिलİखत मŐ से िकस अȑिधक खपत वाली सɥी का वैǒािनक नाम
है?

Ans 1. आलू

2. टमाटर

3. ɗाज

4. लहसुन

Question ID : 26433044737

Status : Answered

Chosen Option : 1

Q.11 थैलोफाइटा संभाग के पादप से िनकाले गए िवलयन की पहचान करŐ।
Ans 1. कैबेज िवलयन

2. फीनॉ̵̫थेलीन िवलयन

3. िलटमस िवलयन

4. टमŊįरक िवलयन

Question ID : 26433039454

Status : Not Answered

Chosen Option : --

Q.12 िवद्युतचंुबकीय ˙ेƃŌ म Ůकाश की पूरी ŵंृखला का वणŊन करता है िजसे आम तौर पर तरंग दैȯŊ के
________ Ɨेũो ं मŐ और ऊजाŊ और आवृिȅ मŐ वृİȠ के Ţम मŐ िवभािजत िकया जाता है।

Ans 1. आठ

2. पांच

3. छह

4. सात

Question ID : 26433044809

Status : Answered

Chosen Option : 4
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Q.13 िनɻिलİखत मŐ से कौन-सा शहर Ťीˆकालीन ओलंिपक 2028 की मेजबानी करेगा?
Ans 1. लॉस एंिजिलस

2. िमिशगन

3. ɊूयॉकŊ

4. िशकागो

Question ID : 26433044494

Status : Not Answered

Chosen Option : --

Q.14 िवकास िकशनराव गवली बनाम _________ के मामले मŐ, जनवरी 2021 मŐ, सवŖ̓च ̢यायालय ने कहा
िक OBC आरƗण 50% से अिधक नही ं हो सकता।

Ans 1. तेलंगाना राǛ

2. गोवा राǛ

3. महारा Ō̓ राǛ

4. मȯ Ůदेश राǛ

Question ID : 26433044417

Status : Not Answered

Chosen Option : --

Q.15 सूयŊ शा˓ीय नृȑ महोȖव Ůित वषŊ 10 िदनो ं के िलए ___________मŐ आयोिजत िकया जाता है।
Ans 1. मदुरै

2. रामेʷरम

3. ितŜवनंतपुरम

4. मैसूŜ

Question ID : 26433044619

Status : Not Answered

Chosen Option : --

Q.16 िकस कलाकार के संगीत एʛम का शीषŊक 'लœड ऑफ गोʒ' है?

Ans 1. मीता नाग

2. राजना ˢामीनाथन

3. अनुʺा शंकर

4. अनुपमा भगवत

Question ID : 26433044566

Status : Answered

Chosen Option : 4

Q.17 ' Ōːेट ůॉम द हाटŊ' िनɻिलİखत मŐ से िकस भारतीय िŢकेटर की आȏकथा है?

Ans 1.  सौरव गांगुली

2.  सिचन तŐदुलकर

3. किपल देव

4.  युवराज िसंह

Question ID : 26433042155

Status : Answered

Chosen Option : 3
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Q.18 माचŊ 2021 तक की İ̾ थित के अनुसार, जैविलन ːार नीरज चोपड़ा ने _____________ मŐ तीसरे
भारतीय Ťांड िŮƛ मŐ 88.07 m का Ūो करके रा Ō̓ ीय įरकॉडŊ बनाया।

Ans 1. भिटंडा

2. लुिधयाना

3. जालंधर

4. पिटयाला

Question ID : 26433044433

Status : Answered

Chosen Option : 4

Q.19 कुमकुम मोहंती को िनɻिलİखत मŐ से िकस नृȑ शैली मŐ उनके योगदान के िलए पȧ ŵी पुरˋार Ůाɑ
Šआ?

Ans 1. मिणपुरी

2. भरतनाǨम

3. ओिडसी

4. छाऊ

Question ID : 26433041769

Status : Answered

Chosen Option : 3

Q.20 __________ बांसुरी या बांस की बांसुरी से संबंिधत िवʷ ŮिसȠ ह̾ती हœ।
Ans 1. अजय चŢवतŎ

2. मीरा बनजŎ

3. हįर Ůसाद चौरिसया

4. अंजनीबाई मालपेकर

Question ID : 26433038763

Status : Answered

Chosen Option : 3

Q.21 चंदन की लकड़ी भारत मŐ िकस Ůकार के वनो ं मŐ पाई जाती है?

Ans 1. उˁकिटबंधीय पणŊपाती वन

2. उˁकिटबंधीय सदाबहार वन

3. मœŤोव वन

4. उˁकिटबंधीय काँटेदार वन एवं झािड़याँ

Question ID : 26433039666

Status : Answered

Chosen Option : 2

Q.22 'थडŊ मैन' िनɻिलİखत मŐ से िकस खेल से संबंिधत है?

Ans 1. टेिनस

2. िŢकेट

3. फुटबॉल

4. हॉकी

Question ID : 26433044504

Status : Answered

Chosen Option : 2
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Q.23 जून 2021 तक की İ̾ थित के अनुसार, भारत की पुŜष फ़ुटबॉल टीम के कɑान ____________ सिŢय
अंतररा Ō̓ ीय फ़ुटबॉल İखलािड़यो ं मŐ दूसरे सबसे अिधक गोल करने वाले İखलाड़ी बन गए।

Ans 1. संदेश िझंगन

2. अिनŜȠ थापा

3. सुनील छेũी

4. सहल समद

Question ID : 26433044437

Status : Answered

Chosen Option : 3

Q.24 िजन िबंदुओं के बीच िवभवांतर को मापा जाना होता है, वोʐमीटर उन िबंदुओं से कैसे जुड़ा होता है?

Ans 1. संकŐ ͤिūत वृȅों मŐ

2. समांतर Ţम मŐ

3. एक दूसरे के लंबवत

4. एक ही चंुबकीय Ɨेũ के साथ

Question ID : 26433039390

Status : Answered

Chosen Option : 2

Q.25 िनɻिलİखत मŐ से िकस ˢतंũता सेनानी ने ‘सȑ के साथ मेरे Ůयोग’ (‘The Story of My
Experiments with Truth’) िलखी?

Ans 1. जवाहर लाल नेहŝ

2. भगत िसंह

3. बी. आर. आɾेडकर

4. महाȏा गांधी

Question ID : 26433038944

Status : Answered

Chosen Option : 4
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